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Properiies of Rhombi and Squares N
is a parallelogram with all four sides congruent. A

* thombus has all the properties of a parallelogram and
the two additional characteristics described in the

theorems below.

S5l Drobles,

i 8.15 If a parallelogram is a rhombus then :ts dlagonals are

opposite angles.

¥ CINPORis a rombus, then 41
/5= /6,and £7 = £8.

Exampie L2, 43 = /4,

perpendicular.
Example If CJABCD s a rhombus, then AC L BD. |
- D C
‘ 6.16 If a parallelogram is a rhombus, then each diagonal bisects a pair of N P

' 1 WXYZ is a rhombus. What is the-measure of £WXY?
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3. GHIJ is a thombus. Find the value of a.

,,MZI'I“ MZJ" /80
%o&-",?a + L/ai“ZS 18O

(48 +25)° |

Ta 45 =180
To. = 75
e O =
A . B
right angles. Recall that a parallelogram with four right angles is a - L
rectangle, and a parallelogram with four congruent sides is a -+ -+
rhombus. Therefore, a parallelogram that is both a rectangle and a M

rhombus is also a squate.




6.17 if the diagonals of 2 paralielag?am are perpendiciilar, than the
parallslogram is-a rhombus. {Converse of Theorem. 6.15) W
Example IfJL L KM, then C?JKEM isa rhumbus

'~ §.18 if one diagonal of a paraltelogram i}lsec’ts d pair of Gppcssate
angles, then the parallelogram is a rhombus. Lonverse cs%
Thooren, 6.16)

Example £t = 22 and Z3 = /4, 0r£5 = £6and
L7 = L8, then ETWXYZIs arhnmbus .

iR

1 6.19 If one pair of cansecutive sides of a parallelogram are
; congruent, the paralielogram is athombus.
Example [f AB= BC, then f“_““?ABCD isa rhambus

6.20 i a quadrilateral i$ botha rectangle and a rhombus, then it is a square.
& 1! AT " . T 3 e

4. For the square below, UQ = 7x+14 and RT'= 18x - 4, find US.
RT=2-ux 're T US=RT = 186>
19~ = 2(7x+I _
[ 8x-Y =Yx +28 “S= 1o
He-4=2¢
XZ2H = 6

5. The area of square ABCD is 100 square units and the area of AEBF is 58 square units. If
BB LBFand AE =4, find the length of CF. A= 8% = (00} 5= J1c0 =10

K’____,_,/

RE s

A \’8 | A (O B /oz_}_qQ__,. 2
. 4] _~<€=llp too +ip= C*
E e =
» !
D c F AA’ZB'I"——?SQ:‘%_W'}\
0 b e = e h

e

o Vo ez ih=(lE)-

o - a“Hao:ﬂ(@-_-f—e a;:Jﬂé-lw =Jle :l"{ \
o,




. e s 5_prad1“ce A / (o—5 prachice 1

rhowhes rectesgles,
idia cma.);cife rEC!'Cu ledi cm.aJS
HL’ B, 5 glQdicgow

Zg;re 249 W&W)Bﬁ)b C,b

.rglﬂ}é
1% g?g%fis bE 5 66.5

rlondis | ARCH | ) :j’;} D

| gkl /s

[T AT




NAME o . EE Dare

| Practice A

Each figure is a pa‘rallelogram. Identify the sp-eéial type and explain
your reasoning.

1. 2. 3.0

.
Match the properties of a quadrilateral with all of the types
of quadrilateral which have that property.
7. The diagonals are congruent. A. Parallelogram
8. Both pairs of opposite sides are congruent. B. Rectangle
9. Both pairs of opposite sides are parallel. ‘C. Rhombus
-10. All angles are congruent. D.-Square
11. All sides are congruent.
12. Diagonals bisect the angles.
MATH is a parallelogram with diagonals intersecting at. 0. M A
Identify the type depending upon the given conditions.
13. MTL1AH 14. MT = AH
15. MALAT,AM = MH 16. MO = OT,AD = OH 0
H T
Find the value of x.
17. MNOP is a square. 18. DEFG is a rhombus. 19. WXYZ is a rectangle.
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a 3x+ 14 Ix+ 4 L 3(x + 8)
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6-5 Practice 1 _ , : name. S e (

1. WXYZ is athombus. What is the measure of"LWXY.?_ o

{12x - 88)°
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2. WXYZ is athombus. What is the measure of ZXYW?
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" 5. The area of square ABCD is 81 square units and the area of 4EBF is 45 square units. If

EB 1 BF and AE = 3, find the length of CF.
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